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1. H 37— sy A ErQ, FL(A)34 5 (B)38 5 (C)39 ; (D)4L ; (E)42 -
(2]

N=25>i=2x25+05=6.75> Q =X;,s =X =39 » ¥(C) -
2. HAgrM, EL(A)42 5 (B)45 5 (C)46 ; (D)4AT ;5 (E)55 -

(%]
N=25 - i=3x25+05=13 » M, =x,=47 » (D) -

i IR A3 - 4 i
x 5 6 6 2 3
y 10 9 12 8 7

3. YUl AR s BT N FIFH 2 (A3 (B)4: (C)5 5 (D)6 5 ()7 -
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X y X2 y? Xy
5 10 25 100 50
6 9 36 81 54
6 12 36 144 72
2 8 4 64 16
3 7 9 49 21
22 46 110 438 213
2 2 2
, Iy -(zy)/n_438-(46)/5 .. .,
s, = = =3.7 » #(B) -
n-1 5-1

4. x ~ yglfjﬁl%ffﬁﬁ’rpﬁ}%ﬁ* Sl & 2 (A)0.68 : (B)0.76 ; (C)0.82 ; (D)0.84 : (E)0.95 -
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JExy - (2x)(2y)/n ~ J213-(22x46)/5

\/zx —(3x) nyfEyt—(sy)'/n \[110-(22) 5. [438— (46)’ 5

=0.7584 3%(B) -

ﬁ%ﬁ#ﬁ“*ﬁﬂ f'é"ﬁ%)[fl'*S 6 R :

20 38 50 59 77
5. 453 & PR IQR EB(A)18 5 (B)19 : (C)20 5 (D)21 : (E)22 -

[##]
IQR=Q, - Q, =59-38=21 > ;#(D)

6. I'J ™ i H ELESCEEE ¢ (A)6 5 (B)14 5 (C)82 ; (D)86 ; (E)89 -
(i)

L (=Q —15xIQR=38-15x21=65

i Pl u=Q, +1.5x IQR=59+1.5%x21=90.5

E(A) -

Il
Il

7. S [ W B [0 S ] B R
WS [ 355 @5 35 T 350 (O 595 [ 51
(D) S50~ 5 [ g s B Hr TS S
(]
(A -

8. =I5 ﬁﬁf—? 100 £ ARFHPAT 5T B T0 53 0 ABEIRYS 16 5 [REP ST )
IR e R ) ) S A 2
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V16
P(60< X <80)> 1—%:1—% = P(X <60)<—

100x P(X <60)<100x%=8 »E(A) o
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9. S&ERIT-38 [WHERRTIE 6 [ > FIf1Z (HORREAVES S BT Sl H 2
(A)0.015 : (B)0.020 : (C)0.025 : (D)0.030 ; (E)0.035 -

(7]

C C32

=0.0359 - E(E) -
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I3 A B, B, B, e
A 4 )
Ay 2 3 5 10
Ay 4 2 6 12
Ay 3 6 1 10
HE VHEC 13 13 14 40

10. P(A, NB,) T [l & 2 (A)0.1: (B)0.2 : (C)0.3 : (D)0.4 : (E)0.5 -
(]

P(AzﬁBz)=4—3;)=0.075 SE(A) o

11. P(A,[B,) 55 ¥ 2 (A)0.L : (B)0.2 5 (C)0.3 : (D)0.4 : (E)O.5 -
(7]

3 1uy o
P(A2|Bz)=E=O.2308 ' #(B)
12. P(B,) BT 7{# 2 (A)0.1: (B)0.2 : (C)0.3 5 (D)0.4 5 (E)0.5
(]
13

P(Bz)=5=0.325 ' S (C) -

13. —?JA‘B\CE VSRR ARO[ 4 ¥ P(A)=03 - P(B)=0.6 - P(ANB)=02 -

P(C|B)=05 + P(BuUC)=0.8 - [I[P(C) fiF = [l ¥ 2
(A)0.4 5 (B)05 i (C)0.6 : (D)0.7 : (E)O.8 *
(]

P(BNC)=P(C|B)P(B)=05x0.6=0.3
P(C)=P(BUC)+P(BNC)-P(B)=0.8+0.3-0.6=05 > ¥(B) -
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14. 3@ FRE - P(B|C) BT ~Flliif ¥ ? (A)0.4 5 (B)0.5; (C)0.6 ; (D)0.7 ; (E)0.8 -
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P(BNC) 03 ‘
:—206 4 E:g C °
P(C) 05 =(©)

15. = HIRHSAEEY X oRs $0h fBrd £ (x)=2x,0<x<1 » FE(X) S5 5[ ¥ 2
(A)0.3 ; (B)0.4 5 (C)0.5; (D)0.6 ; (E)0.7
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1

2

£ (X)= [ (x)dx= ;200 =] =2 =067 52(0) -

0

16. #5581 HfE - var(X)EE T (7 H 2 (A)0.3 5 (B)0.4: (C)0.5 5 (D)0.6; (E)O.7 -

(=]

1

1 1 2 1
E(Xz)zjoxzf(x)dx=j02x3dx=zx40=—
2 1 (2 1
var(X)=E(X?)-[E(X)] =§—(§j =15 =0.0556 » E(A) -

17. §E(X)=2 ~ var(X)=2 ~ E(Y)=3 ~ var(Y)=1" ' X - Y Z4fBHH - I E(X -2Y)
BFEIEE 2 (AL (B)2: (C)3: (D)4 (B)5 -

(=]
E(X -2Y)=E(X)-2E(Y)=2-2x3=—4 + #(A) -

18. #5581 FfE - var(X —2Y) B4 IR H 2 (AL (B)25 (C)3 5 (D)4 5 (E)5 -

(=]
var(X —2Y)=var(X)+4var(Y)=2+4x1=6 > Z(E) -
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}F' %0.10 ~ 0.20 ~ 0.15 -
@ 1L fpoRs s 2
(b):iﬁ:ﬁ#guj iLPFI! 1o 1 C o e e sk R 2

(2]

i Ry & B

i PO 1L ~ PO
L TS [

“ORgA | 90.00%  10.00% 0.3

“HB | 80.00%  20.00% 0.4

“RyC | 85.00%  15.00% 0.3
T POl N B PO )) ~ P())
ey A i T A
“HA | 02700 00300 = RA 0.3195 0.1935
T HB | 03200  0.0800 T B 0.3787 0.5161
T HC | 02550  0.0450 ~ O C 0.3018 0.2903
WSS | 0.8450  0.1550 st [ 0.8450 0.1550

(@) P( i) =0.1550

(b) P(C™ | 7 24if) = 0.2903
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